[19;:9:9:9:9:9:9:9:0:9:9:9:9:9:9:0:9:0:0.9:9:0.0.0.0.0:0.:9:9:0.9:9:0.0.0:9:0:0:0:0.0:9.:0.0:0.:0:90:9.0:9:9.:0:0:0:0.0.9:0:0.0:0:0.0:0:0.9.0:0.9:0.0.0.:0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXKXMS/1-6600307-00001XX
TrigonometryExercise7 for No.9594

NO]_{ I=[a=(42/2=59.40), b= (21 /2 + 21 /2 43 =81.14), c = 42] }
TL2=[4=60° c= (2442 4/3 =58.79), b= (124/2 4/3 +364/2 =80.31)]

I =[A=15° B=30° c=(904/2 = 127.28)] J
2=[A=60°B=75c=(2642 /3 =63.69)]

N03_{1:[A=6o°,c:(lzﬁf=29.39),b=(6ﬁﬁ+ 18«/5=40.15)]}
2=[C=45° b= (2443 —24=17.57),a=(24+/2 4/3 = 58.79)]
Nod=1[a=84 b= (8443 = 145.49), 4 = 30°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6600307-00002XX
TrigonometryExercise7 for No.9608

o :{1 —[a=(304/2 43 =73.48), b= (152 4/3 +454/2 = 100.38),c:90]}
2=[A=45°b=(45+454/3 = 122.94), c = (454/2 = 63.64)]
NOZ:[J :[B:60°,A:75°,c=(24ﬁﬁ=58.79)]J

2=[B=105°4=30° ¢ = (5442 =76.37)]

N03:[.1=[C=60°,b=(8ﬁﬁ+24 2 :53.54),a:(16«/5«/§:39.19)]}

2=[B=45,c=(184/2 =2546),a=(18+184/3 =49.18)]
Nod=1[a=18,b=(78+/3 = 135.10), 4 = 30°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00003XX
TrigonometryExercise7 for No.9646

I =[B=45°c=(364/2 =5091),a=(36+3643 = 9835)] }
2=la=(1424/3 +424/2 =93.69), b= (2842 4/3 = 68.59), c = 84]
{.1:[/1:750, C=45°,b=(27«/5«/§=66.14)]}

No2 =
2=[B=30° 4=30° c=(364/3 = 6235)]
{1 :[B:60°,a:(8«/5«/;+24«/E:53.54),c:(16«/5«/§:39.19)]}
No3 =
2=[A=45° c=(36+364/3 =9835),b=(364/2 43 =88.18)]

Nod=[a=84 b= (8443 = 145.49), 4 = 30°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00004XX

TrigonometryExercise7 for No.9649

NO]:[.1:[A:60°,b:(24«/5«/§:58.79),c:(12«/5«/§+36«/5:80.31)]}

2=[a= (4523 —454/2 =46.59), b =90, c = (9042 = 127.28)]

N02=[

Nolz{

I=[C=15°B=30%a= (6642 =9334)] }
2=[A4=75,C=60%b=(104/2 43 =24.49)]

N03_{ d=[A=45 b= (182 4/3 =44.09), ¢ = (18 + 183 = 49.18)] }
TL2=1C=60° b= (1442 4/3 +424/2 =93.69), a= (2842 4/3 = 68.59)]

Nod=[a=72,b=(36424/3 =88.18),4=45]
X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXKXKXKKXXKXKXKKXKXKK

No2=[




):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXXKXMS/1-6600307-00005XX
TrigonometryExercise7 for No.9669

NO]{ d=[a=(1542=2121),5=30,c=(15+ 1543 =40.98)] }
TL2=[4=30°% b=(904/2 = 127.28), c = (452 + 454/2 4/3 = 173.87)]

{1—[3 30°, 4= 15°, ¢ = (60 4/2 = 8485)]}
No2 =
2=[A4=45,C=105°b=(3342 =46.67)]

N(ﬁ{ .1=[A=30°,b=(15ﬁ+15[[:57.96),c=(3oﬁ=42.43)]}
TL2=[B=60%c=(124/24/3 =2939), a=(64/2 43 + 1842 =40.15)]

Nod=1[a=60,b=(60+3 =103.92), 4 = 30°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6600307-00006XX

TrigonometryExercise7 for No.9717

d=[a=(72+3 = 124.71), b =72, c = 72] }
2=[4=45b=(2742 /3 =66.14), c = (274/3 —27=19.77)]
Noz_[l :[A=6o°,B:75°,c=(2zﬁﬁ=53.89)]J

2=[C=30%4=105° b= (7842 =11031)]

{ I=[Ad=45 c=(184/2 4[3 =44.09), b= (18 + 1843 = 49.18)] }
No3 = o

2=[C=30° b=(30+2 =42.43),a=(154/2 43 = 154/2 = 15.53)]

Nod=[a=84 b= (4242 /3 =102.88), 4 = 45°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00007XX

TrigonometryExercise7 for No.9763

NO]:{1=[B=60°,c=(12ﬁﬁ+36ﬁ=8031),a:(z4ﬁﬁ=58.79)]}

2=[a=36,b=(364/3 =6235),c=36]

Nozz['] —[B=60°, C=75 a= (26«/5«/§=63.69)]}

2=[C=30°4=30°b=(6043 =103.92)]

Nog o [1 [B=60° a= (26«/7«/7 63.69), c = (134/2 4/3 +394/2 = 8700)]}
_[4=30° c=(90+/3 = 155.88), b= 90]
No4=[a=9o,b=(9of=155.88),A=30]

):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00008XX
TrigonometryExercise7 for No.9877

NO]:[.1:[A:600,c:(22«/5«/§:53.89),bz(ll«/?«/g+33«/5:73.61)]}

2=[a=(544/2=7637), b=54,c = (274/2 +274/2 43 = 104.32)]

No]:[

{ I=[A4=30° C=15% b= (7842 =11031)] }
No2 = R R
2=[B=45,4=75,c= (42243 =102.88)]

N03_{ I =[B=45c¢=(39+394/3 =106.55), a = (394/2 4/3 =95.53)] }
TL2=1C=30% a= (4242 +424/24/3 = 162.28), b= (844/2 = 118.79)]

Nod =[a=60,b=(3042 /3 =73.48), 4 =45°]

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXKXKKXXXXXKXKXKXKXKKXKXKXKXKXXKXKXKX KK KK XXX XX XKXKKXKXKXX



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXKXMS/1-6600307-00009XX
TrigonometryExercise7 for No.9911

{1 —[a=(304/24/3=73.48), =90, c = (154/2 /3 +454/2 = 100.38)]}
Nol =
2=[C=45° a=(30+304/3 =81.96), b= (3042 =42.43)]
I=[C=15°4=30°b=(3642 =5091)] }
2=[B=75° C=60° a=(20+/2 /3 =48.99)]
o [1 [B=60% c=(114/2 43 +334/2 =73.61), a= (2242 4/3 = 5389)]}
2=[C=45°b=(394/3 —39=2855),a= (3942 4/3 =95.53)]

No4:[a:66,b=(66«/7=114.32),A:30 ]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6600307-00010XX

TrigonometryExercise7 for No.10027

NO]_[.1=[C=6o°,a=(14ﬁf=34.29),b:(7ﬁﬁ+21«/§=46.84)]}
2=[a=84,b=(4242 /3 —42/2 =43.48), c = (8442 = 118.79)]
[ —[C=60°,B=75 a= (164243 = 3919)}
No2 =
2=[C=75°B=45° a=(39+/2 /3 =95.53)]

o {1—[14 30°, b = (18«/5+18ff 69.55), c = (364/2 = 5091)]}
[C=45° a=(304/2 =42.43), b= (30 +304/3 =81.96)]
N04=[a=42,b=(42«/7=72.75),A=30]

):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00011XX
TrigonometryExercise7 for No.10063

NO]:[.12[a:72,b:(24«/5«/;:58.79),c:(12«/5«/§+36«/5:80.31)]}
2=[B=30%a=(9042 =127.28), c = (454/2 4/3 —454/2 = 46.59)]
I =[A4=30° C=30%b=(904/3 = 155.88)] J
2=[C=75, B=60°a=(304/24/3 =73.48)]
N03:[ I =[B=30°a=90,c=(904/3 = 155.88)] }
2=[C=60%a=(224/2 3 =53.89), b= (114/2 4/3 +334/2 =73.61)]

Nod =[a=54b=(274/2 /3 =66.14), 4 = 45°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00012XX

TrigonometryExercise7 for No.10120

NO]:{]:[a:90,b:(15«/5«/§+45«/5:100.38),c:(30«/5«/§:73.48)]}
2=[B=30° a= (452 +454/2 4/3 = 173.87), c = (904/2 = 127.28)]
Moo - { —[B=45°,C=75, a= (304243 = 7348)}
2=[B=75,C=60° a=(10+/2 /3 =24.49)]
N03:{1=[A=60,c=(14ff=34.29),b=(7ff+21ﬁ:46.84)]}
2=[B=30°a=(3642 +364/2 4/3 =139.09), c = (724/2 = 101.82)]

Nod=[a=30,b=(154/2 /3 =36.74), 4 = 45°]

X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXKKXXXXXKXKXKXKXKKXKXKXKXKXKXKX XXX KKK KKXKXKXXXKXKKXKXKXX

N02=|:

N02=[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXXKMS/1-6600307-00013XX
TrigonometryExercise7 for No.10367

{1 :[A=60°,b=(14«/5«/§=34.29),c=(7«/5«/g+21«/5=46.84)]}
Nol =
2=[a=(364/3 —36=2635),b=(36+2 /3 =88.18), c = 72]
NOZ_[.]:[B:75°,A=6O°,c:(12«/5«/§=29.39)]J
TL2=[B=15° C=45°, a=(30+/2 /3 = 73.48)]
I=[B=30%a=72,c=(724/3 = 12471)] }
2= [A=45 c= (3343 =33=24.16), b= (3342 4/3 = 80.83)]
Nod =[a=48,b= (2442 /3 =58.79), 4 = 45°]

),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6600307-00014XX
TrigonometryExercise7 for No.10372

d=[a=(24+3 —24=17.57), b= (242 4/3 = 58.79), c = 48]
Nol = o
2=[4=30%b=(3042 +304/2 4/3 = 115.91), ¢ = (604/2 = 84.85)]
NOZ_{I: [B=45°,4=75c=(424/2 43 = 102.88)]}
2=[C=30%A=105°b=(6642 =93.34)]
o [1 [4=60°c=(134/2 43 +394/2 =87.00), b = (264/2 /3 = 6369)]}
2=[B=30° c=54 a= (5443 =93.53)]
No4=[a=54,b=(27«/7«/7=66.14),A=45]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00015XX
TrigonometryExercise7 for No.10375

NO]:[.1:[a:(IS«/E«/;:36.74),b:30,c:(15+15«/3:40.98)]}
2=[C=30°a=60,b=(6043 =103.92)]
Nozz[.l:[C:3O°,A:30°,b:(72«/§=124.71)]}
2=[B=105°, C=45° a=(3642 =5091)]
N03:[1 _[A=45° c= (2443 —24= 17.57),b=(24«/§«/§=58.79)]}
2=[C=30°a=90,b=(90+3 = 155.88)]
Nod=[a=72b= (7243 = 124.71), 4 = 30°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00016XX
TrigonometryExercise7 for No.10426

{1=[a=48,b=(16ﬁf=39.19),c=(8ﬁﬁ+24ﬁ=53.54)]}
Nol =
2=[C=45 a=(214/2 /3 =51.44), b= (214/3 =21 = 15.37)]
{1 —[A=45°,C=15° b= (42243 = 102.88)]}
No2 =
2=[C=60°4=75b=(144/2 43 =3429)]
{1 _[B=30% a=(724/2 =101.82), c = (364/2 +364/2 4/3 = 139.09)]}

No3 =

2=[C=45 a=(1542 3 =36.74), b= (154/3 — 15 =10.98)]

Nod =[a=48,b= (2442 /3 =58.79), 4 = 45°]

X [Page = 0004] XXXXXXXXXXXXXXXXXXXXKXKKXXXXXKXKXKXKXKXKXKXKXKXKXXKXKX KKK XXX XXX XXKXKKXKXKXX

N03:[



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXKXMS/1-6600307-00017XX
TrigonometryExercise7 for No.10628

NO]_{ I =[B=45c¢=(30+304/3 =81.96), a= (3042 =42.43)] }
TL2=[a=60,b=(204/2 /3 =48.99), c = (104/2 /3 +304/2 = 66.92)]
[.1 _[4=60°, C=75°,b=(26ﬁﬁ=63.69)]}
No2 =
2=[C=45°,4=105 b= (212 =29.70)]
{.1:[B=3O°,c:(18«/5+18«/5«/7269.55),a=(36«/§=50.91)]}
No3 =
2=[C=45°b=(364/2 /3 =88.18), a = (36 + 3643 =98.35)]

Nod =[a=48,b= (2442 /3 =58.79), 4 = 45°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6600307-00018XX

TrigonometryExercise7 for No.11408

{1:[a=(18«/5«/§:44.09),b:54,c=(9«/5«/g+27«/5=60.23)]}
Nol =
2=[C=45°b=(154/3 —15=10.98), a = (154/2 4/3 =36.74)]
NOZ_[.I —[4 =60°,B=75°,c=(22«/5«/§=53.89)]}
TL2=[B=75° C=45°,a=(27+/2 /3 = 66.14)]
NO3_[1 —[C=60°b=(524/3 + 15«/5233.46),a:(10«/5«/§:24.49)]}
Tl 22[4=30° b= (364243 =364/2 =3727), c = (724/2 = 101.82)]

Nod=[a=84 b= (42423 =102.88), 4 = 45°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00019XX

TrigonometryExercise7 for No.11560

[.1:[a:36,b=(18ﬁ+ 18«/5«/§=69.55),c=(36«/§=50.91)]}
Nol =
2=[C=45° a=(184/2 /3 =44.09), b= (18 + 18 /3 =49.18)]
[.1 _[4 :750,B=60°,c:(14«/5«/§=34.29)]J
No2 =
2=[A4=30° C=105° b= (5442 =7637)]

N03_{1 —[B=60° c=(30424/3=73.48), a=(154/24/3 +454/2 = 100.38)]}

T 22[C=30% a= (8442 =118.79), b= (4242 + 424/2 4/3 = 162.28)]

Nod=[a=30,b= (1542 /3 =36.74), 4 = 45°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00020XX

TrigonometryExercise7 for No.11806

[.1 —[a=(144/2 43 +424/2 =93.69), b = 84, c:(28«/5«/§:68.59)]}
Nol =

2=[A4=30% c=(24+2 /3 —24+[2 =2485), b= (484/2 = 67.88)]

[.1 :[B:75°,A=60°,c:(30«/5«/§=73.48)]}
No2 =
2=[B=30° C=30°a=(544/3 =93.53)]
N03_{1 _[B=130° c=(33 ﬁf—33ﬁ=34.16),a=(66ﬁ=93.34)]}
Tl 2214245 c=(15424/3 =36.74), b= (154/3 = 15=10.98)]

Nod=[a="78,b=(784/3 =135.10), 4=30°]
X [Page = 0005] XXXXXXXXXXXKXXXXXXXXXXXXXXXXKXXXXKXKXKXXKXKXKXKKXKXKXKKXKXKK



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXXKXMS/1-6600307-00021XX
TrigonometryExercise7 for No.12219

NO]_[ d=[a=36,b=(184/2 =25.46),c= (18 + 18+/3 =49.18)] }
TL2=1C=60%a= (74243 +214/2 =46.84), b= (1442 4/3 = 34.29)]
[1 =[A=75°,B=6o°,c=(12ﬁﬁ=29.39)]J
No2 =
2=[C=30°A4=105 b= (662 =93.34)]
N03_{1=[B=3o°,a=(3oﬁﬁ—3o 2=31.06),c=(60«/§=84.85)]}
T 224245 b=(394/3 —39=28.55), c = (3942 4/3 = 95.53)]

Nod=1[a=90,b= (452 /3 =11023), 4 = 45°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6600307-00022XX

TrigonometryExercise7 for No.12954

No]_[.12[B:60°,az(22«/5«/§253.89),c:(llﬁ«/;+33«/5:73.61)]}
2=[a=(334/24/3 =80.83), b=(334/3 —33=24.16), c = 66]
[ —[B=75°,C=45,a= (1842 4/3 = 4409)}
No2 =
2=[B=60°, C=75" a=(22+/2 /3 =53.89)]
N03_[.1=[A=30,b=(60f=84.85),c=(3oﬁ+3off=115.91)]}
2=[B=45,a=(39+3943 =106.55), c = (394/2 = 55.15)]
Nod=1[a=66,b=(66+3 =114.32), 4 = 30°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.0.0.9.0.9.9.9.9.:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00023XX
TrigonometryExercise7 for No.12964

NO]_{ I=[C=30°a=(3642=5091), b= (1842 +/3 — 1842 = 18.63)] }
“L2=[a=(15424/3 +454/2 =10038), b =90, ¢ = (304/2 +/3 = 73.48)]
[.]=[C=75°,A=60°,b=(16«/§«/§=39.19)]}
No2 =
2=[B=30° 4=30° c= (7243 = 124.71)]
Nog o [1 [B=60° a=(284/2 /3 =6859), c=(144/2 /3 +424/2 = 9369)]}
2=[C=45°b=(30424/3 =73.48), a = (304/3 —30=21.96)]
No4=[a=36,b=(18ff=44.09),A=45]

):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00024XX
TrigonometryExercise7 for No.12971

NO]_[.I=[a=48,b=(48ﬁ=67.88),c=(24ﬁﬁ—24 2:24.85)]}
Tl 2=[B=45°c=(244/24/3 =58.79), a = (2443 —24=17.57)]
[.1 _[B=45°, 4= 15°,c=(15«/5«/§=36.74)]}
No2 =
2=[C=30°, B=15° a=(724/2 = 101.82)
[1 [B=60° a=(28+/2 /3 =68.59), c=(144/2 /3 +424/2 = 9369)]}

No3 =

—[A=30° b= (484/2 = 67.88), c = (244/2 43 —244/2 =24.85)]

No4=[a=30,b=(304/3 =51.96),4=30"]
X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXXKXXKXKXKKXKXKXKKXKXKK
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TrigonometryExercise7 for No.13023

NO]:[-IZ[A:600a02(121/5«/;+36«/5:80.31),b:(24«/5«/§:58.79)]}

2=[a=(422=59.40), b =84, c= (42 +424/3 = 114.75)]
I=[C=15°B=30°a=(484/2 = 67.88)] }
2=[C=45°,B=75" a= (212 /3 =51.44)]
o [1 [4=60%b=(11424/3 43342 =73.61),c= (2242 4/3 = 5389)]}
2= [B=30° c= (242 +24/2 43 =92.73), a= (4842 = 67.88)]

Nod=[a=42,b= (2142 /3 =51.44), 4 =45°]
),9:9:9:9:9.90:9.9:9.9.9.9.90.9.9:9:9.9.9.9:0.9.9.0.9.9.9.0.9.0.:0.9.9.0.9.9.0.9.9.9.:9.9.9.9.0.9.0.:0.9.9.0.0.9.0.9.9.9:0.9.9.0.9.9.9.9.9.0.0.9.9.0.0.0.0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6600307-00026XX
TrigonometryExercise7 for No.13033

NO]Z{J:[B:60°,c:(7«/5ﬁ+21 2 :46.84),a=(14«/5«/§=34.29)]}
2=[a=84 b=(844/3 =14549), ¢ = 84]
NOZ:[J —[B=45°,C=105°,a=(21 ﬁ=29.70)]J
2=[C=30°A4=105 b= (542 =7637)]
N03:{] —[C=30°b=(33 «/E«/;—33«/E:34.16),a:(66«/5293.34)]}
2=[B=45°,a=(45+4543 = 122.94), c = (454/2 4/3 = 110.23)]

Nod=1[a=66,b=(66+3 =114.32), 4 = 30°]
):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00027XX

TrigonometryExercise7 for No.13197

NO[{ d=[a=(364/3 =36=2635),b=(364/24/3 =88.18), c = 72] }

2=[B=30°a=(90+/2 =127.28), c = (452 + 45/2 4/3 = 173.87)]
I=[C=15°4=30°b=(784/2 =110.31)] }

2=[B=60° C=75" a=(22+/2 /3 =53.89)]

N02=|:

N02=[

N03_[ I=[B=45°c=(39+394/3 =106.55), a = (394/2 = 55.15)] }
TL2=1C=60° a= (2442 4/3 =58.79), b= (124/2 4/3 +364/2 =80.31)]

Nod =[a=54b=(274/2 /3 =66.14), 4 = 45°]
):9:0:9:9.0:9.9:9:0:9.9.0.9.9.9:9.9.9.0.9.9.0:9.9.9:0.0.9.0.9.9.9:0.9.9.0:9.9.0:9.9.9.0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0:0.0.9:0.0.9.0:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00028XX

TrigonometryExercise7 for No.13907

NOJZ[.IZ[a:60,b:(20«/5«/§:48.99),c:(IO«/E«/g+3O«/5:66.92)]}

2=[C=45° a= (4242 4/3 =102.88), b= (424/3 — 42 =30.75)]
Noz{'l —[A=45° B=105° c= (452 = 63.64)]}
2=[B=30°4=105 ¢ =(364/2 =50.91)]
N03:{1 _[C=60° a= (264243 =63.69), b=(134/2 /3 + 39«/5=87.00)]}
2=[B=45,a=(36+3643 =98.35),c=(364/2 4/3 =88.18)]
Nod =[a=48,b= (2442 /3 =58.79), 4 = 45°]

X [Page = 0007] XXXXXXXXXXXXXXXXXXXXKKKKKKXXXKXKXKXKXKKXKXKXKXKXXKX XK KXKX KKK XXX XXX KKKXKX
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TrigonometryExercise7 for No.13991

{ I =[C=45° a=(36+364/3 =9835), b=(364/2 /3 =88.18)] }

Nol =

2=[a=(48+/2 =67.88), b=48,c = (244/2 + 2442 4/3 =92.73)]
Noz_[.l:[A:60°,B:75°,c:(18«/5«/§:44.09)]J

2=[4=105°,B=30° ¢ =(904/2 = 127.28)]
NOS_{]:[A=6O°,b=(5«/E«/§+15«/5=33.46),c=(10«/§«/§=24.49)]}
2=[B=45,a=(30+3043 =81.96), c = (304/2 = 42.43)]
Nod=[a=42,b= (2142 /3 =51.44), 4 =45°]
):0:0.9:9.9.9.9,9:0.0.9.9.9.9.9:9:0.:0.9.0.9.9,9.9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9.9:0.0.0.9.9.9.9,0:0:0.0.0.9.9.9.:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:0:0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6600307-00030XX
TrigonometryExercise7 for No.14005

Mol { I=[C=45°a=(184/2 =25.46), b= (18 + 184/3 =49.18)] }
2=[a= (sffﬂsf 33.46), b =30, c = (104/2 /3 = 24.49)]
d=[A=15° B=30° c= (3042 =42.43)] J
2=[C=45°,B=75" a=(33+/2 /3 =80.83)]
{]:[B:60°,a:(5«/5«/§+15«/3:33.46),c:(10«/5«/§:24.49)]}
No3 =
2=[C=45° a=(364/2 3 =88.18), b= (364/3 — 36 =26.35)]
Nod=[a=42,b= (2142 /3 =51.44), 4 =45°]

):9:0:9:9:0:9.9:9:9:9:9.0.9.9.9:9.9.9.0:9.9.0:9.9.9:0.0.9.0.9.9:9:9.0.9.0:9.9.0:9.9.9:0.9.9.0.9.0.9:0:0.9.0.9.9.0:0.0.9.0:9.9.0.:9.0.9:0.0.9.0.:0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600307-00031XX
TrigonometryExercise7 for No.14157

Mol - [ d=[a=(33+3343=90.16), b= 66, c = (3342 = 46.67)] }
2o [C=60% b (1842 3 = 44.09), a= (942 43 + 2742 = 60.23)]

1 =[B=30° 4=105° c—(84«/7—11879)]}

2=[C=75° A=45° b= (3342 /3 =80.83)]

N02=[

No2 = {

N03_{ .1:[3:45,c:(18+18ﬁ=49.18),a=(18ﬁ=25.46)] }
TL22[4=30° = (9042 = 127.28), b= (4542 + 454/2 4[3 = 173.87)]

No4=[a=60,b=(604/3 =103.92), 4 =30°]
):9,9:9:0.0.9.9.9.9.9.:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:0.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9:0.0.0.9.9.9.9.9.:0.0.0.0.9.9.9.9:0.0.9.9.9.9.9.0:0.0.0.9.9.9.0.¢
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